AR ] 101 A R AR A

o v g ]
ERES \ EE BE(1) = (2) + REARAER B=ERAR gzﬁaﬂf —
(4) + (5) + (6) $H(2) BOlE)=Q(1) | BERAE) ﬁﬁ(s)g i (E)
*EHBEECERYER
% BB ° ° 0.00% - - 0
RBRRE |(BLZAXE|MERDWEEHEREK 0 0 0.00% - - 0
m(40 )  |HEsRA M *ERARBEZHAEEE
40,500.00 40,500.00 100.00% - - 0
1L (OA) FAE
INET 40,500.00 40,500.00 100.00% 0 0 0
*B1) EN 44 0 0 0.00% - - 0
B R M E R B R A B E 0 0 0.00% - - 0
FREBK[E 0 0 0.00% - - 0
IR 0 0 0.00% - - 0
LIHEER 21,825.00 21,825.00 100.00% - - 0
58 2 P S *Eﬁiﬂ%ﬁ 0 0 0.00% 0 0 0
*ENRE 0 0 0.00% - - 0
S 0 0 0.00% - - 0
y=E-Ar 0 0 0.00% 0 0 0
*ERREER 0 0 0.00% - - 0
*g b RU(E A B A 0 0 0.00% - - 0
INET 21,825.00 21,825.00 100.00% 0 0 0
Wicr =t 0 0 0.00% 0 0 0




“BIk5E 0 0 0.00% 0 0 0
BRI 0 0 0.00% 0 0 0
BB R 0 0 0.00% - - 0
ERBE 0 0 0.00% 0 0 0
BB 0 0 0.00% 0 0 0
Bk fH FE A 0 0 0.00% 0 0 0
et 0 0 0.00% 0 0 0
o ZBRREKER 0 0 0.00% 0 0 0
EAEWKZSERR 0 0 0.00% - - 0
BINEEHBmRERR 0 0 0.00% - - 0
BRI AR M B4 R 0 0 0.00% - - 0
1h A R 0 0 0.00% - - 0
*3HE AR 0 0 0.00% - - 0
BRBEEM 0 0 0.00% - - 0
BERAREAME 0 0 0.00% - - 0
KR 0 0 0.00% - - 0
HBE 0 0 0.00% - - 0
HICERE 0 0 0.00% - - 0
£y RER 0 0 0.00% - - 0
L& & RE 0 0 0.00% - - 0
BARBERI ARG AR KES 0 0 0.00% - - 0
EREREERE 0 0 0.00% - - 0
ER{CEERM 0 0 0.00% - - 0
BEREWERREM 0 0 0.00% 0 0 0
BBEEM 0 0 0.00% 0 0 0
NRE 0 0 0.00% - - 0




et 0 0 0.00% 0 0 0
st 62,325.00 62,325.00(E) 100.00% 0 0 0.00(1)
F-HIEERBRRER 0 0.00(F) 0.00% 0.00(J)
BE_ERBREESD 0 0.00(G) 0.00% 0.00(K)
BE=ZERBEREESD 0 0.00% 0.00(H)|  0.00(L)
EREERAEEEHAELRBREREERER
(23 78) 40,500.00 40,500.00 100.00% 0 0 0
3B ERERENBRRLEERBEEER
BN RE RIS Geh &8 S LE D
=[A/(A+B+C+D)] * 100%
E—HIEER
BEESHECR
AE—BIEERBER(RREEER) 62,325.00@X 100% =
E—EIEER
BBIE B AR
ot ]
B)¥E—HEEKBELEGFRRER) 0| 62,325.00 " 100%
C)E—BEERBERE=8RREER) 0| 62,325.00
D)E—HIEEKBER (E=HFRRER) 0 1
XIEEPRIBE B (40 H)ERREFEIZES 70 5
BRaREEE R
=a P 58 o RS EREE R ERE




=[(E+F+G+H+M)/(E+F+G+H++J+K+L+M)]

* 100%
(St
E— RS REE R (R
ERBES | 6232500 :%)i :.ig RS R RRERRBOLE
HRRER) i
(F)E—3 X 100 % =
EERBE E-EFEEREREE
REREE

SHEERE m(FFRRE M)
)
C)FE=ER
RREEM (KE—BRRREBEEMGE

0 62,325.00
BSBEIERR RREM)
Em)

X 100 %

(H)E=%3R
RREEM (LE=FRRRBEMCGE

0 62,325.00
BEBEERR RREM)
Em)
(MFBER 0

XBRORBREEERREFETIXES 30 2




